

**RELIABILITY OF TIME - DEPENDENT STRESS - STRENGTH SYSTEM
WHICH FOLLOW DIFFERENT DISTRIBUTIONS WHEN THE NUMBER
OF CYCLES FOLLOWS BINOMIAL DISTRIBUTION**

P. ASHOK*¹, N. SWATHI², M. TIRUMALA DEVI³, AND T. SUMATHI UMA MAHESWARI⁴

^{1,2,3,4}**Department of Mathematics,
Kakatiya University, Warangal, Telangana State, India.**

(Received On: 06-09-17; Revised & Accepted On: 03-11-17)

ABSTRACT

Reliability of time dependent stress strength system is carried out by considering stress/strength variables as deterministic or random fixed or random independent. The number of cycles in any period of time t is assumed to be random. Reliability is obtained for the random models when the numbers of cycles follow binomial distribution where stress and strength follow Pareto distribution and exponential distribution. Reliability computation are made for the above said model

Key words: Binomial distribution, Pareto distribution, Exponential distribution, Deterministic, Random- fixed, Random- independent and Reliability.

INTRODUCTION

Time dependent stress strength system is defined by Kapur, K.C. and Lamberson L.R [3]. In stress-strength models component fails if the stress exceeds strength. The uncertainty about the stress and strength variables is classified into three categories. (1) Deterministic (2) Random fixed (3) Random independent. The components are assumed to be identical and the number of cycles for any time period t is assumed to be random. Expressions for system reliability have been attained when numbers of cycles follow binomial distribution and stress and strength both follow Pareto distribution and exponential distribution for random- fixed stress and random- independent strength, random – independent stress and random- fixed strength

NOTATIONS

$f(x)$: The probability density functions of random variable X .

$g(y)$: The probability density function of random variable Y .

$R(t)$: Reliability at t time with n number of cycles.

R_i : Reliability after i cycles.

p : probability of success.

q : probability of failure.

RELIABILITY EVALUATION

Number of cycles occurring in a given time interval follows binomial distribution, then

$$\pi_i(t) = P(X = i) = \binom{n}{i} p^i q^{n-i}, \quad i = 0, 1, 2, \dots, n.$$

Case-1: Random- fixed stress and Random- independent strength

Let $f(x)$ be the probability density function of random fixed stress X and $g(y)$ be the probability density function of random independent strength Y .

$$R_i = \int_0^\infty f(x) \left(\int_x^\infty g(y) dy \right)^i dx, \quad i = 0, 1, 2, \dots, n$$

Corresponding Author: P. Ashok*¹,
^{1,2,3,4}**Department of Mathematics, Kakatiya University, Warangal, Telangana State, India.**

$$\begin{aligned}
 R(t) &= \sum_{i=0}^n \pi_i(t) R_i \\
 &= \sum_{i=0}^n \binom{n}{i} p^i q^{n-i} \int_0^\infty f(x) \left(\int_x^\infty g(y) dy \right)^i dx \\
 &= q^n \int_0^\infty f(x) \sum_{i=0}^n \binom{n}{i} \left(\frac{p}{q} \int_x^\infty g(y) dy \right)^i dx \\
 &= q^n \int_0^\infty f(x) \left(1 + \frac{p}{q} \int_x^\infty g(y) dy \right)^n dx \\
 R(t) &= q^n \int_0^\infty f(x) \left(1 + \frac{p}{q} G(x) \right)^n dx, \text{ where } G(x) = \int_x^\infty g(y) dy \\
 R(t) &= \int_0^\infty f(x) (q + pG(x))^n dx, \text{ where } G(x) = \int_x^\infty g(y) dy \tag{1}
 \end{aligned}$$

Case-2: Random- independent stress and Random- fixed strength

Let g(y) be the probability density function of random fixed strength Y and f(x) be the probability density function of random independent stress X.

$$\begin{aligned}
 R(t) &= \sum_{i=0}^n \binom{n}{i} p^i q^{n-i} \int_0^\infty g(y) \left(\int_0^y f(x) dx \right)^i dy \\
 &= q^n \int_0^\infty g(y) \sum_{i=0}^n \binom{n}{i} \left(\frac{p}{q} \int_0^y f(x) dx \right)^i dy \\
 &= q^n \int_0^\infty g(y) \left(1 + \frac{p}{q} \int_0^y f(x) dx \right)^n dy \\
 R(t) &= q^n \int_0^\infty g(y) \left(1 + \frac{p}{q} F(y) \right)^n dx, \text{ where } F(y) = \int_0^y f(x) dx \\
 R(t) &= \int_0^\infty g(y) (q + pF(y))^n dx, \text{ where } F(y) = \int_0^y f(x) dx \tag{2}
 \end{aligned}$$

If Stress follows Pareto Distribution and Strength follows Exponential Distribution

Case-1: Random - fixed stress and Random - independent strength

From equation(1)

$$\begin{aligned}
 R(t) &= \int_0^\infty f(x) (q + pG(x))^n dx, \text{ where } G(x) = \int_x^\infty g(y) dy \\
 G(x) &= \int_x^\infty \mu e^{-\mu y} dy = e^{-\mu x} \\
 R(t) &= \int_0^\infty \frac{\lambda k^\lambda}{x^{\lambda+1}} (q + P e^{-\mu x})^n dx \\
 &= \lambda k^\lambda \int_0^\infty x^{-(\lambda+1)} [n_{c_0} q^n + n_{c_1} q^{n-1} (p e^{-\mu x}) + n_{c_2} q^{n-2} (p^2 e^{-2\mu x}) + \dots \dots \dots + n_{c_n} q^0 (p^n e^{-n\mu x})]. \\
 R(t) &= \lambda k^\lambda \left[\int_0^\infty n_{c_0} q^n x^{-(\lambda+1)} dx + \int_0^\infty n_{c_1} q^{n-1} p e^{-\mu x} x^{-(\lambda+1)} dx + \int_0^\infty n_{c_2} q^{n-2} p^2 e^{-2\mu x} x^{-(\lambda+1)} dx \right. \\
 &\quad \left. + \dots \dots + \int_0^\infty n_{c_n} q^0 p^n e^{-n\mu x} x^{-(\lambda+1)} dx \right] \tag{1} \\
 I_0 &= \int_0^\infty n_{c_0} q^n x^{-(\lambda+1)} dx = n_{c_0} q^n \int_0^\infty x^{-(\lambda+1)} dx \\
 &= n_{c_0} q^n \left[\frac{x^{-\lambda-1+1}}{-\lambda-1+1} \right]_0^\infty \\
 &= n_{c_0} q^n \left[\frac{x^{-\lambda}}{-\lambda} \right]_0^\infty = 0 \\
 I_0 &= \int_0^\infty n_{c_0} q^n x^{-(\lambda+1)} dx = 0 \dots \dots (i)
 \end{aligned}$$

let $I_1 = \int_0^\infty n_{c_1} p q^{n-1} e^{-\mu x} x^{-(\lambda+1)} dx$

$$\begin{aligned}
 &= n_{c_1} p q^{n-1} \int_0^\infty e^{-\mu x} x^{-(\lambda+1)} dx \\
 &= n_{c_1} p q^{n-1} \left[\left[e^{-\mu x} \frac{x^{-\lambda-1+1}}{-\lambda-1+1} \right]_0^\infty - \int_0^\infty e^{-\mu x} (-\mu) \frac{x^{-\lambda}}{-\lambda} dx \right] \\
 &= n_{c_1} p q^{n-1} \left[0 - \frac{\mu}{\lambda} \int_0^\infty e^{-\mu x} x^{-\lambda} dx \right]
 \end{aligned}$$

$$= \frac{n_{c_1} p q^{n-1}}{\lambda} \left[-\frac{\mu}{\mu-\lambda+1} \Gamma(-\lambda+1) \right]$$

$$= \frac{n_{c_1} p q^{n-1}}{\lambda} \left[-\mu^\lambda \Gamma(-\lambda+1) \right]$$

$$I_1 = \int_0^\infty n_{c_1} p q^{n-1} e^{-\mu x} x^{-(\lambda+1)} dx = \frac{n_{c_1} p q^{n-1}}{\lambda} \left[-\mu^\lambda \Gamma(-\lambda+1) \right] \dots \dots (ii)$$

let

$$I_2 = \int_0^\infty n_{c_2} p^2 q^{n-2} e^{-2\mu x} x^{-(\lambda+1)} dx$$

$$= n_{c_2} p^2 q^{n-2} \int_0^\infty e^{-2\mu x} x^{-(\lambda+1)} dx$$

$$= n_{c_2} p^2 q^{n-2} \left[\left[e^{-2\mu x} \frac{x^{-\lambda-1+1}}{-\lambda-1+1} \right]_0^\infty - \int_0^\infty e^{-2\mu x} (-2\mu) \frac{x^{-\lambda}}{-\lambda} dx \right]$$

$$= n_{c_2} p^2 q^{n-2} \left[0 - \frac{2\mu}{\lambda} \int_0^\infty e^{-2\mu x} x^{-\lambda} dx \right]$$

$$= \frac{n_{c_2} p^2 q^{n-2}}{\lambda} \left[-\frac{2\mu}{2\mu-\lambda+1} \Gamma(-\lambda+1) \right]$$

$$= \frac{n_{c_2} p^2 q^{n-2}}{\lambda} \left[-\mu^\lambda \Gamma(-\lambda+1) \right]$$

$$I_2 = \int_0^\infty n_{c_2} p^2 q^{n-2} e^{-2\mu x} x^{-(\lambda+1)} dx = \frac{n_{c_2} p^2 q^{n-2}}{\lambda} \left[-\mu^\lambda \Gamma(-\lambda+1) \right] \dots \dots (iii)$$

let

$$I_3 = \int_0^\infty n_{c_3} p^3 q^{n-3} e^{-3\mu x} x^{-(\lambda+1)} dx$$

$$= n_{c_3} p^3 q^{n-3} \int_0^\infty e^{-3\mu x} x^{-(\lambda+1)} dx$$

$$= n_{c_3} p^3 q^{n-3} \left[\left[e^{-3\mu x} \frac{x^{-\lambda-1+1}}{-\lambda-1+1} \right]_0^\infty - \int_0^\infty e^{-3\mu x} (-3\mu) \frac{x^{-\lambda}}{-\lambda} dx \right]$$

$$= n_{c_3} p^3 q^{n-3} \left[0 - \frac{3\mu}{\lambda} \int_0^\infty e^{-3\mu x} x^{-\lambda} dx \right]$$

$$= \frac{n_{c_3} p^3 q^{n-3}}{\lambda} \left[-\frac{3\mu}{3\mu-\lambda+1} \Gamma(-\lambda+1) \right]$$

$$= \frac{n_{c_3} p^3 q^{n-3}}{\lambda} \left[-\mu^\lambda \Gamma(-\lambda+1) \right]$$

$$I_3 = \int_0^\infty n_{c_3} p^3 q^{n-3} e^{-3\mu x} x^{-(\lambda+1)} dx = \frac{n_{c_3} p^3 q^{n-3}}{\lambda} \left[-\mu^\lambda \Gamma(-\lambda+1) \right] \dots \dots (iv)$$

Continuing this process up to n times more, we get

let

$$I_n = \int_0^\infty n_{c_n} p^n q^{n-n} e^{-n\mu x} x^{-(\lambda+1)} dx$$

$$= n_{c_n} p^n q^{n-n} \int_0^\infty e^{-n\mu x} x^{-(\lambda+1)} dx$$

$$= n_{c_n} p^n q^{n-n} \left[\left[e^{-n\mu x} \frac{x^{-\lambda-1+1}}{-\lambda-1+1} \right]_0^\infty - \int_0^\infty e^{-n\mu x} (-n\mu) \frac{x^{-\lambda}}{-\lambda} dx \right]$$

$$= n_{c_n} p^n q^{n-n} \left[0 - \frac{n\mu}{\lambda} \int_0^\infty e^{-n\mu x} x^{-\lambda} dx \right]$$

$$= \frac{n_{c_n} p^n q^{n-n}}{\lambda} \left[-\frac{n\mu}{n\mu-\lambda+1} \Gamma(-\lambda+1) \right]$$

$$= \frac{n_{c_n} p^n q^{n-n}}{\lambda} \left[-\mu^\lambda \Gamma(-\lambda+1) \right]$$

$$I_n = \int_0^\infty n_{c_n} p^n q^{n-n} e^{-n\mu x} x^{-(\lambda+1)} dx = \frac{n_{c_n} p^n q^{n-n}}{\lambda} \left[-\mu^\lambda \Gamma(-\lambda+1) \right] \dots \dots (v)$$

Substituting all these values in equation (1)

$$R(t) = \lambda k^\lambda \left[0 + \frac{n_{c_1} p q^{n-1}}{\lambda} \left[-\mu^\lambda \Gamma(-\lambda+1) \right] + \frac{n_{c_2} p^2 q^{n-2}}{\lambda} \left[-\mu^\lambda \Gamma(-\lambda+1) \right] + \frac{n_{c_3} p^3 q^{n-3}}{\lambda} \left[-\mu^\lambda \Gamma(-\lambda+1) \right] + \dots \dots + n_{c_n} p^n q^{n-n} \left[-\mu^\lambda \Gamma(-\lambda+1) \right] \right]$$

$$R(t) = \frac{\lambda k^\lambda}{\lambda} \left[-\mu^\lambda \Gamma(-\lambda+1) \right] \left[n_{c_1} p q^{n-1} + n_{c_2} p^2 q^{n-2} + n_{c_3} p^3 q^{n-3} + \dots \dots + n_{c_n} p^n q^{n-n} \right]$$

$$R(t) = k^\lambda \left[-\mu^\lambda \Gamma(-\lambda+1) \right] \sum_{k=1}^n n_{c_k} p^k q^{n-k}$$

If Stress Follows Exponential Distribution and Strength Follows Pareto Distribution

Case-2: Random- independent stress and Random- fixed strength

From equation (2)

$$R(t) = \int_0^\infty g(y) (q + pF(y))^n dy, \text{ where } F(y) = \int_0^y f(x) dx$$

$$F(y) = \int_0^y \lambda e^{-\lambda x} dx = (1 - e^{-\lambda y})$$

$$R(t) = \int_0^\infty \frac{\mu k^\mu}{y^{\mu+1}} (q + p(1 - e^{-\lambda y}))^n dy = \int_0^\infty \frac{\mu k^\mu}{y^{\mu+1}} (1 - pe^{-\lambda y})^n dy$$

$$R(t) = \int_0^\infty \frac{\mu k^\mu}{y^{\mu+1}} (1 - pe^{-\lambda y})^n dy \\ = \mu k^\mu \int_0^\infty y^{-(\mu+1)} [n_{c_0} - n_{c_1} p e^{-\lambda y} + n_{c_2} p^2 e^{-2\lambda y} - n_{c_3} p^3 e^{-3\lambda y} + \dots \dots \dots + (-1)^n n_{c_n} p^n e^{-n\lambda y}].$$

$$R(t) = \mu k^\mu [\int_0^\infty n_{c_0} y^{-(\mu+1)} dy + \int_0^\infty n_{c_1} p e^{-\lambda y} y^{-(\mu+1)} dy + \int_0^\infty n_{c_2} p^2 e^{-2\lambda y} y^{-(\mu+1)} dy + \dots \dots \dots + (-1)^n \int_0^\infty n_{c_n} p^n e^{-n\lambda y} y^{-(\mu+1)} dy] \dots \dots \dots (1)$$

$$I_0 = \int_0^\infty n_{c_0} y^{-(\mu+1)} dy = n_{c_0} \int_0^\infty y^{-(\mu+1)} dy \\ = n_{c_0} \left[\frac{y^{-\mu-1+1}}{-\mu-1+1} \right]_0^\infty \\ = n_{c_0} \left[\frac{y^{-\lambda}}{-\mu} \right]_0^\infty = 0$$

$$I_0 = \int_0^\infty n_{c_0} y^{-(\mu+1)} dy = 0 \dots \dots \dots (i)$$

let $I_1 = \int_0^\infty n_{c_1} p e^{-\lambda y} y^{-(\mu+1)} dy \\ = n_{c_1} p \int_0^\infty e^{-\lambda y} y^{-(\mu+1)} dy \\ = n_{c_1} p \left[\left[e^{-\lambda y} \frac{y^{-\mu-1+1}}{-\mu-1+1} \right]_0^\infty - \int_0^\infty e^{-\lambda y} (-\lambda) \frac{y^{-\mu}}{-\mu} dy \right] \\ = n_{c_1} p \left[0 - \frac{\lambda}{\mu} \int_0^\infty e^{-\lambda y} y^{-\mu} dy \right] \\ = \frac{n_{c_1} p}{\mu} \left[-\frac{\lambda}{\lambda-\mu+1} \Gamma(-\mu + 1) \right] \\ = \frac{n_{c_1} p}{\mu} [-\lambda^\mu \Gamma(-\mu + 1)]$

$$I_1 = \int_0^\infty n_{c_1} p e^{-\lambda y} y^{-(\mu+1)} dy = \frac{n_{c_1} p}{\mu} [-\lambda^\mu \Gamma(-\mu + 1)] \dots \dots \dots (ii)$$

let $I_2 = \int_0^\infty n_{c_2} p^2 e^{-2\lambda y} y^{-(\mu+1)} dy \\ = n_{c_2} p^2 \int_0^\infty e^{-2\lambda y} y^{-(\mu+1)} dy \\ = n_{c_2} p^2 \left[\left[e^{-2\lambda y} \frac{y^{-\mu-1+1}}{-\mu-1+1} \right]_0^\infty - \int_0^\infty e^{-2\lambda y} (-2\lambda) \frac{y^{-\mu}}{-\mu} dy \right] \\ = n_{c_2} p^2 \left[0 - \frac{2\lambda}{\mu} \int_0^\infty e^{-\lambda y} y^{-\mu} dy \right] \\ = \frac{n_{c_2} p^2}{\mu} \left[-\frac{2\lambda}{2\lambda-\mu+1} \Gamma(-\mu + 1) \right] \\ = \frac{n_{c_2} p^2}{\mu} [-\lambda^\mu \Gamma(-\mu + 1)]$

$$I_2 = \int_0^\infty n_{c_2} p^2 e^{-2\lambda y} y^{-(\mu+1)} dy = \frac{n_{c_2} p^2}{\mu} [-\lambda^\mu \Gamma(-\mu + 1)] \dots \dots \dots (iii)$$

let $I_3 = \int_0^\infty n_{c_3} p^3 e^{-3\lambda y} y^{-(\mu+1)} dy \\ = n_{c_3} p^3 \int_0^\infty e^{-3\lambda y} y^{-(\mu+1)} dy \\ = n_{c_3} p^3 \left[\left[e^{-3\lambda y} \frac{y^{-\mu-1+1}}{-\mu-1+1} \right]_0^\infty - \int_0^\infty e^{-3\lambda y} (-3\lambda) \frac{y^{-\mu}}{-\mu} dy \right] \\ = n_{c_3} p^3 \left[0 - \frac{3\lambda}{\mu} \int_0^\infty e^{-3\lambda y} y^{-\mu} dy \right] \\ = \frac{n_{c_3} p^3}{\mu} \left[-\frac{3\lambda}{3\lambda-\mu+1} \Gamma(-\mu + 1) \right] \\ = \frac{n_{c_3} p^3}{\mu} [-\lambda^\mu \Gamma(-\mu + 1)]$

$$I_3 = \int_0^\infty n_{c_3} p^3 e^{-3\lambda y} y^{-(\mu+1)} dy = \frac{n_{c_3} p^3}{\mu} [-\lambda^\mu \Gamma(-\mu + 1)] \dots \dots (iv)$$

Continuing this process up to n times more, we get

$$\begin{aligned} \text{let } I_n &= \int_0^\infty n_{c_n} p^n e^{-n\lambda y} y^{-(\mu+1)} dy \\ &= n_{c_n} p^n \int_0^\infty e^{-n\lambda y} y^{-(\mu+1)} dy \\ &= n_{c_n} p^n \left[\left[e^{-n\lambda y} \frac{y^{-\mu-1+1}}{-\mu-1+1} \right]_0^\infty - \int_0^\infty e^{-n\lambda y} (-n\lambda) \frac{y^{-\mu}}{-\mu} dy \right] \\ &= n_{c_n} p^n \left[0 - \frac{n\lambda}{\mu} \int_0^\infty e^{-n\lambda y} y^{-\mu} dy \right] \\ &= \frac{n_{c_n} p^n}{\mu} \left[-\frac{n\lambda}{n\lambda^{-\mu+1}} \Gamma(-\mu + 1) \right] \\ &= \frac{n_{c_n} p^n}{\mu} [-\lambda^\mu \Gamma(-\mu + 1)] \end{aligned}$$

$$I_2 = \int_0^\infty n_{c_2} p^2 e^{-2\lambda y} y^{-(\mu+1)} dy = \frac{n_{c_2} p^2}{\mu} [-\lambda^\mu \Gamma(-\mu + 1)] \dots \dots (v)$$

Substituting all these values in equation (1)

$$\begin{aligned} &= \mu k^\mu \left[0 - \frac{n_{c_1} p}{\mu} [-\lambda^\mu \Gamma(-\mu + 1)] + \frac{n_{c_2} p^2}{\mu} [-\lambda^\mu \Gamma(-\mu + 1)] + \frac{n_{c_3} p^3}{\mu} [-\lambda^\mu \Gamma(-\mu + 1)] \right. \\ &\quad \left. + \dots \dots \dots - \frac{n_{c_n} p^n}{\mu} [-\lambda^\mu \Gamma(-\mu + 1)] \right] \\ R(t) &= \frac{\mu k^\mu}{\mu} [-\lambda^\mu \Gamma(-\mu + 1)] [n_{c_1} p - n_{c_2} p^2 + n_{c_3} p^3 - \dots \dots + (-1)^{n-1} p^n] \end{aligned}$$

$$R(t) = k^\mu [-\lambda^\mu \Gamma(-\mu + 1)] \sum_{k=1}^n (-1)^{k-1} n_{c_k} p^k$$

CONCLUSION

General reliability formula for n cycles is derived when number of cycles follows binomial distribution for the following two cases: (1) random- fixed Stress and random- independent Strength. (2) random- independent Stress and random- fixed Strength.

REFERENCES

1. Doloi, C, Borah. M. Cascade System with Mixture of Distributions, International Journal of Statistics and Systems, 7(1), 11-24, 2012.
2. Gogoi, J, Borah. M and Sriwastav G. L. An Interference Model With Number of Stresses A Poisson Process, IAPQR Transactions, 34(2), 139-152, 2010.
3. Kapur, K.C. and Lamberson, L.R.: Reliability in Engineering Design, John Wiley and Sons, Inc. (1977).
4. Lawless, J.F.: Statistical Models and Methods for Lifetime data. Wiley, (1982)
5. M.N.Gopalan, P.Venkateswarlu: Reliability analysis of time – dependent cascade system with deterministic cycle times, Microelectron Relib., Vol.22, No. 4, pp: 841-872 (1982).
6. M.N.Gopalan, and P.Venkateswarlu: Reliability analysis of time–dependent cascade system with deterministic cycle times, Microelectronics Relib., Vol.23, No. 4, pp: 355-366 (1983).
7. Schatz, R., Shooman, M. And Shaw, L: Applications of Time- Dependent Stress- Strength Models of Non-Electrical and Electrical Systems, Proceedings of Reliability and Maintainability Symposium, January, pp. 540-547.. (1974).
8. Sinha, S.K.: Reliability and Life Testing, Wiley Eastern Limited, New Delhi. (1986).
9. Shaw, L., Shooman, M. and Schartz, R.: Time dependent stress-strength models for non-electrical and electrical systems, Proceeding Reliability and Maintainability Symposium, 186-197. (1973).

Source of support: Nil, Conflict of interest: None Declared.

[Copy right © 2017. This is an Open Access article distributed under the terms of the International Journal of Mathematical Archive (IJMA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]